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a) 56𝑥 + (424𝑦 − 305) − (356𝑦 − 42𝑥 − 220) + 100 

 = 56𝑥 + 424𝑦 − 305 − 356𝑦 + 42𝑥 + 220 + 100 = 𝟗𝟖𝒙 + 𝟔𝟖𝒚 + 𝟏𝟓 

  

b) 86𝑎 − {10𝑎 + 13𝑏 − [(5𝑎 − 3𝑏) − (3𝑎 + 2𝑏)]} 

 = 86𝑎 − {10𝑎 + 13𝑏 − [5𝑎 − 3𝑏 − 3𝑎 − 2𝑏]} = 86𝑎 − {10𝑎 + 13𝑏 − [2𝑎 − 5𝑏]} 

 = 86𝑎 − {10𝑎 + 13𝑏 − 2𝑎 + 5𝑏} = 86𝑎 − {8𝑎 + 18𝑏} = 86𝑎 − 8𝑎 − 18𝑏 = 𝟕𝟖𝒂 − 𝟏𝟖𝒃 

  

c) 3𝑎

𝑥
+

10𝑎

6𝑥
+

𝑎

3𝑥
=

18𝑎

6𝑥
+

10𝑎

6𝑥
+

2𝑎

6𝑥
=

30𝑎

6𝑥
=

𝟓𝒂

𝒙
 

  

d) 36𝑚𝑛2

5𝑥
÷

9𝑚2𝑛

10𝑥
=

36𝑚𝑛2

5𝑥
⋅

10𝑥

9𝑚2𝑛
=

4𝑛

1
⋅

2

𝑚
=

𝟖𝒏

𝒎
 

  

e) 
32𝑧2 ÷

8𝑧

9𝑥
= 32𝑧2 ⋅

9𝑥

8𝑧
= 4𝑧 ⋅

9𝑥

1
= 𝟑𝟔𝒙𝒛 

  

f) 
(

𝑎

4𝑏
−

4𝑏

𝑎
) ⋅ 4𝑎𝑏 =

4𝑎2𝑏

4𝑏
−

16𝑎𝑏2

𝑎
= 𝒂𝟐 − 𝟏𝟔𝒃𝟐 

  

g) 
(𝑥2 − 𝑦2) (

𝑥

𝑦
+

𝑦

𝑥
) =

𝑥3

𝑦
+

𝑥2𝑦

𝑥
−

𝑦2𝑥

𝑦
−

𝑦3

𝑥
=

𝑥4

𝑥𝑦
+

𝑥2𝑦2

𝑥𝑦
−

𝑦2𝑥2

𝑥𝑦
−

𝑦4

𝑥𝑦
=

𝑥4 − 𝑦4

𝑥𝑦
=

𝒙𝟑

𝒚
−

𝒚𝟑

𝒙
 

  

h) 6𝑎𝑥 − 4𝑏𝑥

4𝑎𝑥 + 2𝑏𝑥
=

2𝑥(3𝑎 − 2𝑏)

2𝑥(2𝑎 + 𝑏)
=

𝟑𝒂 − 𝟐𝒃

𝟐𝒂 + 𝒃
 

  

i) 𝑢 + 𝑣

7𝑝
÷

6𝑢 + 6𝑣

14𝑝2𝑞
=

𝑢 + 𝑣

7𝑝
⋅

14𝑝2𝑞

6(𝑢 + 𝑣)
=

2𝑝𝑞

6
=

𝒑𝒒

𝟑
 

  

j) 𝑢2 − 2𝑢 + 1

𝑢2 − 1
=

(𝑢 − 1)2

(𝑢 + 1)(𝑢 − 1)
=

𝒖 − 𝟏

𝒖 + 𝟏
 

  

k) 
(16𝑎4 − 81𝑏4) ÷ (4𝑎2 + 9𝑏2) =

16𝑎4 − 81𝑏4

4𝑎2 + 9𝑏2
=

(4𝑎2 + 9𝑏2)(4𝑎2 − 9𝑏2)

4𝑎2 + 9𝑏2
= 𝟒𝒂𝟐 − 𝟗𝒃𝟐 

  

l) 3𝑢 − 5𝑣

15𝑢𝑣
−

𝑢 − 7𝑤

12𝑢𝑤
−

5𝑣 − 4𝑤

20𝑣𝑤
+

3

4𝑢
+

3

5𝑣
+

4

3𝑤
  

 
=

4𝑤(3𝑢 − 5𝑣) − 5𝑣(𝑢 − 7𝑤) − 3𝑢(5𝑣 − 4𝑤) + 15𝑣𝑤 ⋅ 3 + 12𝑢𝑤 ⋅ 3 + 20𝑢𝑣 ⋅ 4

60𝑢𝑣𝑤
 

 
=

60𝑢𝑤 + 60𝑣𝑤 + 60𝑢𝑣

60𝑢𝑣𝑤
=

60(𝑢𝑤 + 𝑣𝑤 + 𝑢𝑣)

60(𝑢𝑣𝑤)
=

𝑢𝑤

𝑢𝑣𝑤
+

𝑣𝑤

𝑢𝑣𝑤
+

𝑢𝑣

𝑢𝑣𝑤
=

𝟏

𝒗
+

𝟏

𝒖
+

𝟏

𝒘
 

  

m) 𝑎

2
⋅ 4𝑎 +

1

8
{[− (

1

4
𝑎 −

1

4
𝑏)] ⋅ [32𝑎 + 32𝑏]} = 2𝑎2 +

1

8
{[−

1

4
𝑎 +

1

4
𝑏] ⋅ [32𝑎 + 32𝑏]} 

 
= 2𝑎2 +

1

8
{−8𝑎2 − 8𝑎𝑏 + 8𝑎𝑏 + 8𝑏2} = 2𝑎2 − 𝑎2 + 𝑏2 = 𝒂𝟐 + 𝒃𝟐 

  

n) {−2 ⋅ (3𝑥 − 𝑦)2 − [3(4𝑥𝑦 − 6𝑥2 −
2
3

𝑦2)]} + 199

−199
=

{−2 ⋅ (9𝑥2 − 6𝑥𝑦 + 𝑦2) − [12𝑥𝑦 − 18𝑥2 − 2𝑦2]} + 199

−199
 

 
=

−18𝑥2 + 12𝑥𝑦 − 2𝑦2 − 12𝑥𝑦 + 18𝑥2 + 2𝑦2 + 199

−199
=

199

−199
= −𝟏 

 


